WweSTRUT

SINGLE-PECK

WsSTRUT : GALVANIZED
hanger : galvanized

POUBLE-PECK

HANGER / CABLE GLIDE TN vgen + phvonecs



RUNS

HANGER / CABLE GLIPE
SINGLE-PECK
O © e
A —A—
_ Single-Deck Hangers are for use with all
bv U ngle-deck
OTRUT (oirgle-deck) busSTRUT lengths. Each hanger is a pre-assembled
B Prodvet | Length Catalog Number two part unit. The upper half includes a threaded
Hanger Single HM-S-(F)-ST-H stud for cable glide attachment. 1/4”-20 bolts slide
5 o5 through to secure, align, and lock both halves of
A | B Cable } the assembly. Cables are attached to the hanger by
| " Glide Custom C6-XX sliding through the glide. 1/4”-20 eye bolt is for use
lorat 22 Finsh - GeGalvanzed WeWhte BBlack with beam clamps (by others) and comes
pre-installed to the cable.
POUBLE-PECK
A —
J/*
- bosSTRUT (dotble-deck Double-Deck Hangers are for use with all
B ' orble-deck) busSTRUT lengths. Each hanger is a pre-assembled
Prodvet | Length Catalog Number two part unit. The upper half includes a threaded
Hanger | Double HP-5-(F) stud for cable glide attachment. 1/4”-20 bolts slide
A, B . through to secure, align, and lock both halves of
) ! " Cable % ce-im the assembly. Cables are attached to the hanger by
Zz/4 212 Ghde | Cystom CG-XX sliding through the glide. 1/4”-20 eye bolt is for use
Finish - G=Galvanized W=White B=Black with beam clamps (by others) and comes
busSTRUT pre-installed to the cable.
s

6950 WORTHINGTON GALENA RD. SUITE 140, WORTHINGTON OHIO 43085
TEL 614.933.8695 WWW.busSTRUT.COM

busSTRUT is not responisble for changes in graphic materials.

We reserve the right to change details of design, materials, and finish. V-2.0

SPECIFICATION SHEET



2.53
i TRUT Length
MB-ICM-SH-(C) 1-1 Silver busSTRUT Lengt

( h (SINGLE HANGER)

1']i34 1.79

1.78

|3
\_ J
\_ A
\—R.125
(X2) 10-32 SET SCREW 1/4-20 X .75" ZINC PEM STUL
10-32 UNF - 28~ /—10-32 UNF - 2B
?.266
1.97

.984

R.125
) e

4 \
DRAWN
CretED busSTRUT

-« 1.75——= TITLE
QA

a || MFG ICM'SH'(C) 1'1
1.97 APPROVED
— ~=—.109 SIZE DWG NO REV
B ICM-SH-(C) 1-1
SCALE 14 SHEET 1 OF 1

4 I 3 4& 2 1



	Pages from busSTRUT PRODUCT DATA-2.pdf
	slimline hanger.pdf



